FESERERRERAXEMFEI/FTHRBK R HME

2012/12/9
La—A | EE | [SOABC | A—%—X | BEE | Rt | LB, | #xAE | e
@) 2 — 0|4 — 9 — 4246 — 175
EE 2 — 1 2 1 (2) ( 2) (5 ) 71 ) 1
5 - 2 4 2
129 — 97 | 117 78
X 1 — 1|3 — 7 — 8223 — 251
zozBc| ! — 2 2 1] (o) ( 0) ( -1) ( -28 ) 2
2 — 5 5 3
97 — 129 126 122
X X 0o — 2|2 - 5 — 9(200 — 243
p—t—x| 1 — 2|1 — 2 (-2) ( -2) ( -4) ( -43 ) 3
2 — 4 3 — 5
78 — 117|122 — 126
L3—B AL SBT TOMOY R | MsB# | R4V ,;ff& /BEEE | IEH
X 0o — 2|2 — 6 — 9241 — 257
X 1 = 201 2| (-2) ( -2) ( -3) ( -16 ) 3
4 — 4| 2 5
132 — 124|109 133
@) 1 — 1|3 — 7 — 8239 — 251
SBT 2 - 1 1 2| (o) ( 0) ( -1) ( -12) 2
4 — 4 3 4
124 — 132 115 119
@) @) 2 — 0|4 — 9 — 5252 — 224
Tomouz| 2 — 1 ]2 — 1 ( 2) ( 2) ( 4) ( 28 ) 1
5 — 2 4 - 3
133 — 1091119 — 115
L—3 Al SBT TOMOY X BEIEAL F—L%
@) 1 priE
L—%—X
3 — 0 2 TOMOT R
O 3 IZnZBC
2 ZBC
2 — 1 4 SBT
_ 5 N—F—X
BE
2 1 6 IS\L:

1/10 R—=2




R4 : FSEIRRRKEMFIFT7 5TE
EH: HEEE(L3—A)

HEES: 1 (B= vs ITOZABC)
£15: IFRNIRAR-vEs9-

L3—A
B 2 - 1 [ZDABC
IR RS 21 — 6 BH HLF
D1 2 21 — 17 0
RA Fo — MR HSH
FH HEF 21 — 14 WE #@F
D2 1 18 — 21 2
=tE =8 F 6 — 11 il EE
=25 =8+ 21 — 15 KA %
D3 2 |21 — 13| ¢
m%& BEEF — BIE HEF

2/10 R—=2



R4 FOERERREMEFEIFT7 ik

B HERE(L3—A)

HEES: 2 (IZMOZABCvs JL—F—X)

=5 IFRINRAR-YtU4-

(2D ZBC

L3—A

HIE HEF

D1
R HH

BH HitF

D2
A R

il EE

D3
W= ¥

21 —
21 —

13 —

10 —

21 —
11—

3/10 R—=2

21
20
11

21
16

IL—F—X

EF =F

1K FF

A £

BRI ILF

BA EmxX

K =F



R4 FOERERREMEFEIFT7 ik
B HERE(L3—A)

HEES: 3 (AR vs L—F—X)
=15 IIFNRAKR-YtE5—

L3—A

B 2 - 1 I—F—X
=i =8F 15 — 21 EH =R

D1 0 18 — 21 2
FH OHETF — KE =F
AR FHE 27{ — 5 ¥ =F

D2 2 21 — 8 0
VIR ORE — K EF
RIE BEEF 21 — 13 BAR EHx

D3 2 |21 — 10| ¢
=25 =FF — KL =F

4/10 R—=2



R4 FOERERREMEFEIFT7 ik

2H: HHE(L3—B)
HEE\ES: 1 GEZ vs [CDABC)
=15 IFRIRAF-Ytvs-

/S\ D

D1 1

ME HEEF

D2 2
n\ B2+

MR ImF
D3 1
M FMF

21 —

21 —

21 —
15 —
10 —

5/10 R—

20
21
11

SBT

HBlR

)

J114H

E3IRpe

M DOF

HOF

Rt F



RE%: FSEIRRREMEFI77
#EEB: HAE(L3-B)

HEES: 2 (IZDABCvs L—F—X)
K15 IIFIIRAR-YEU5—

L3—B
SBT 1 - 2 TOMOI X
FAR PHF 14 — 921 K% &bF
D1 0 15 — 21 2
R EEK — MR =M
JItE EEBF 19 — 21 ZE MF
D2 1 21 — 19 2
T HB#kF 4 — 11 PIfn B3
TR ASAF 21 — 18 i/ WF
D3 2 |21 — 8| ¢
EH HMDOF — RE RF

6/ 10 R—2



R4 FOERERREMEFEIFT7 ik
B H#AE(L3—B)

HEES: 3 (AR vs L—F—X)
=15 IIFNRAKR-YtE5—

L3—B
AL 1T - 2 TOMOT X
XA #BF 14 — 921 =5 WF
D1 0 20 — 21 2
FH FIfE — PIfn B3
fE BEEF 21 — 19 R WF
D2 2 18 — 21 1
jna E-F 11 — 9 REB REF
WK BF 15 — 21 K#FHF BEF
D3 0o |10 — 21| o
® F — MR =

7/10 R—



R4 FOERERREMEFEIFT7 ik

1R EFRE (L3 —RE)

Eﬁﬁ%% 4 ()[,—#——Z‘\ VS /S\C)

=5 IFRINRAR-YtU4-

I—F—X

IBK FF

D1 2
Lt =7
BH X=

D2 2

gl ILF

BA EmxX
D3 2
R =F

L3 — R}

21 —

11 —

21 —

21 —
21 —

8/ 10 R—2

19
21

14
19

/S\ D

ME BEETF

na 2+

WK mF

M MF

KK BT

FH Fie



RE%: FSEIRRREMEFI77
A : ERE(L3—iRE)

HAEES: 5 (IZMWABCvs SBT)
K15 IIFIIRAR-YEU5—

L3 — iR

(2D ZBC 2 - 1

Ml EE 15 — 21

D1 0 | 17 — 21
mE sF _

MR H<SH 2{ — 19
D2 2 21 — 16
BH HLF _

KA % 21 — 15
D3 2 21 —
gIHE HEF _

9/10 R—=2

SBT

J1I4H

BlR

LI

ZEN

Zh

EENK

Rt F

HHF

/5\0—9*%



R4 FHSRIRRARIMEFIF7 sk
A : ERE(L3—iRE)

HEES: 6 (BEx vs TOMOYX)
£15: IIFRNRAR -Vt 45—

L3 — iR

i 2 - TOMOT X
VIR ORE 21 — 5 iR WF
D1 2 21 — 9 0
AR FH — RE REF
=21 E=8F 14 — 921 KF HF
D2 0 12 — 21 2
EH mET — MR =M
RIE BEEF 21 — 11 EZE WF
D3 2 |21 — 9| o
B2 EEF — FIf BE3E

10 /10 R—2



